Assignment 1 (15 points, due Sept 1, 2019)
If we want to estimate the probability (ϴ) that a coin falls with head up within ϵ (e.g. 0.1), with probability at least 1 – δ, where δ (e.g. 0.05) is called the failure probability.   That is        P(|[image: image2.png]


 or P(|[image: image4.png]§—-6l>¢) < 6.



 Given this requirement, 
(a) please prove that the number (n) of flips of the coin must satisfy the following inequality (10 points). (Hint: using the formula in the slides with the requirement above) 
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(b) if ϵ = 0.1 and δ = 0.05, which is the minimum n that meets the requirement (5 points)
Notes: please refer to course slides for mathematical formulas. The homework assignment should be submitted to mumachinelearning@gmail.com by mid-night Sept 1, 2019. 

